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Topic:- Physics

1) At which temperature the centigrade and Fahrenheit scales are equal? /P auwRIANRIea

HYeISe Wd TP S §1d 82
1. -800C / -80° Afcr™
2.-400C / -40° Jfd

3. +400C / +40° IfcTTy
4.370C / 370 S}

Correct Answer :-

. -400C / -40° fg

2) What type of modulation is employed in India for radio transmission?/HRRd ﬁi‘%ﬁg‘iﬂ'lﬂ"\’ﬁa?
o fory wopR & AigaRE SriRa 82

1. Frequency modulation/gﬁaafx‘:ﬁﬁ@ﬂ:{
2. Amplitude modulation/@?ﬁi‘ﬂf&;’ﬁ@m
3. None of these/38 4 ®Is g

4. Pulse modulation/qe HIGARM

Correct Answer :-

« Amplitude modulation/THcHeIg AIGARM

3) If the metal bob of a simple pendulum is replaced by a wooden bob, then its time period

will be-AfE TRA AP | UTg & A & I W AHS! BT AT O a1 W1, o §HDBT ATqdBT-
1. None of these/ $TH A Ig a1

2. The same/dg! &

3. Increasedm'qFGITaTlT

4. Decreased/@H gl SIRNT

Correct Answer :-

« The same/dg! M

4) If the radius of earth is reduced by 2% keeping its mass constant. Then the weight of the
body on its surface will-/af¢ gt @t e B 2% w0 H faa1 1, 9YT Foqu™ RR @1 9, @ gt ot Jdag
TR fiUs 3T YR BRI

1. Remain same/dg! 37



2. None of these/ ﬁﬁﬁaﬁéﬂ"@
3. Increase/dg S o

4. Decrease/dc 9 T

Correct Answer :-

e Increase/dg 9 g

5) If the kinetic energy of the body becomes four times of its initial value, then the new

momentum will-Aafe T fvs #t nfa ot w1 9, 3P URMIE A9 $T IR 1 HR a1 5/, &) =117 |1 ghm-
1. Remain constant/@RQ%TlT

2. Becomes four times its initial value/ 9% YRS M &1 IR AT 81 ST

3. Becomes twice its initial value/3Hdb YRS T &1 &l T 81 SIRRT

4. Becomes three times its initial value/ S8 YRS A BT o AT 81 ST

Correct Answer :-

. Becomes twice its initial value/3Hdb YR A BT &l AT 81 SR
6) A stretched rubber has-/T& a1 3&a¥ #-

1. Increased kinetic energy/Trﬁi\_rlBoTrﬁG{fWEﬁ?ﬁ%

2. Increased potential energy/fRUfaS SHuif 2ifde gt ®

3. Decreased potential energy/ Rufas Soif &0 g1 &

4. Decreased kinetic energy/Tfiel &Holl HH Bidl &

Correct Answer :-

. Increased potential energy/fRufas Fuif 3ifie gt &

7) Huygens’s wave theory of light could not explain:/gTgsH @1 39 W fFge) sarer T8 &= ol 82
1. Polarization/WUT

2. Diffraction/ﬁa'cﬁ

3. Photoelectric effect/hIcgaiacd shac

4. Interference/fdHRUl

Correct Answer :-

« Photoelectric effect/®IcIgaiacd shac

8) Kirchhoff's I and II law are based on conservation of-/f&3ar® & yyH 3R fgda fraq & T&UT
TR YT 81

1. Energy and charge/wﬁ 3R 3w
2. Mass and charge/Se0HT 3R 3T
3. Charge and energy/3ias 3R Sl
4. None of these/37H 9 ®Is gl



Correct Answer :-

. Charge and energy/3T3% 3R $

9) A force is given by F = at + bt2, where t is time, the dimension of a and b are:/ If¢ TH §AF =
at + bt2 & R o1 AT 8, el t A €, il a 3R b T fawd gift:

1. [MLT 4] and [MLT "1] / [MLT “4] 3R [MLT 1]
2. [MLT ~3] and [MLT?] / [MLT 3] 3R [MLTO]

3. [MLT “3] and [MLT “4] / [MLT 3] 3R [MLT "4]
4. [MLT "] and [MLTO] / [MLT “1] 3R [MLT?]
Correct Answer :-

« [MLT “3] and [MLT “4]/ [MLT “3] 3R [MLT 4]

10) Which one of the following is true?/sﬂ'ﬁﬁm?ﬁtﬁw%?

1. Momentum is not conserved in all collisions but kinetic energy is conserved in elastic collision/ quft

TRl H HaT TRAET el BT, Afh IR (elastic) Taepx | T Sl TR T8l &

2. Momentum conserved in all collision but not kinetic energy/ G4t cael & Ta7 TRferd Tedr 8, Al i Il
R

3. Both momentum and kinetic energy are conserved in all collision/ It Ta®Rl & T 3R 7Tt Sl At
TRIEA el 3

4. Neither momentum nor kinetic energy is conserved in elastic collision/ d[AGR (elastic) TP A g

TRIET 3 & 3R 7 &) Tifarst St

Correct Answer :-

« Momentum conserved in all collision but not kinetic energy/ I+t TamR] # TaT TRFE IgdT 7, Afdh 7o St
Tl

11) Energy radiated from the body is directly proportional to-fus &} fawivf Suit & JHTIUT
Hoid

1. T2
2. T4
3. T4

4. None of these/‘s’qﬁ@ﬁé:@'

Correct Answer :-

12) A body of mass 0.1 kg attains a velocity of 10 m/s in 0.1 sec. The force acting on the body is-/T®

fvs forTsT soamm 0.1 fFama 8, 0.1 Awvs # 10 WA, F 37 A vfdar giar 81 v R v  arar 9a ghm-
1. 100 N /100 <&

2. 10N/ 10 e

3.0.1 N /0.1 e



4.0.01 N/0.01 geH

Correct Answer :-

« 10N/10=geA

13) A ballis released from height ‘h" and another from ‘2h’. The ratio of time taken by the two
balls to reach the ground is-/T® g 4TS *h’ A B! AT 8, 3R gat *2h’ A1 A1 At &Y Yy a6 g & &
HHY BT 3JUTd GRTI-

14) The lines of magnetic induction due to a current carrying straight long conductor are- @& K]

W YRT 916 U b HRUI GaH1d U1 B I@TE-
1. Perpendicular to wire/ﬂﬂ%awa?ﬂ%

2. Concentric circles/mq?ﬁ

3. Parallel to wire/dR & FHIR gl §

4. None of these/3TH Q ®Is gl

Correct Answer :-

« Concentric circles/d®f<® Ja

15) The velocity of electromagnetic waves in free space is 3 x 103 m/s. The frequency of a radio
wave of wavelength 150 m is-/W! W § fagaa ga@ g a3 &137 3 x 108 WA B 1 T a1 a3 ot avmesd
150 7. 8, Tt amgfy gRf-

1. 20 KHz
2.45 MHz
3.2KHz

4.2 MHz

Correct Answer :-

e 2 MHz

16) The electric field and potential inside a hollow sphere of radius R and uniformly charged with

charge q is- / R 391 3 THaU ¥U & 1A% q | ARG @had Ma &1 fagaa &= 7 fava ghm-

1 q
1. %EQREJ

1 g 1 g

5 dmsgR2'4msy R




1 q

0,
3. %SDR

4. (0, 0)

Correct Answer :-

1
NER
. %EDR

17) The reactance of an inductance of 0.01 H to a 50 Hz AC is-/0.01 H &% URUT ¥ 50 Hz AC ¥ ffuae=g ghift -
1. 1.04Q2
2.0.59Q
3. 3.14Q

4. 6.28Q

Correct Answer :-

o 3.14Q

A

The refracting angle of a prism is A and the refractive index of the prism is cot (E) Then angle
A

of minimum deviation is-/ T fUsH &7 3[uad® 1u1 A 8, 3R fiIsH &1 sruad=i® cot (2)%, a9 <g=aH fage=
A

1. 180°+2A

18)

2. 180°-3A
3.180°-2A
4.90°-A

Correct Answer :-

19) The substances in which the magnetic moment of a single atom is not zero, is called as-/ 98

gerd, o yde U] &1 ga@ig myul Y A8 BT ], HEAdI gl
1. Ferromagnetism/?ﬁw

2. Diamagnetisms/UfdgEdhd
3. Ferrimagnetism/BHmfe

4. Paramagnetism/3fIJHdhd

Correct Answer :-

« Paramagnetism/3fJJHod

20) The average binding energy per nucleon of a nucleus is of the order of-/f&l A% F 3Td ge=9
ot Ui =i &7 5 gl 8-

1.8 ev



2. 8 Mev
3. 8Kev

4.8]

Correct Answer :-

« 8 Mev

21) The angle between F + Qand P — Qwill be- / P + Q 3iR P — Q & = &1 Hlor ghm-
1. 180° only/ Ry 180°
2.90°

3. Between 0° and 1809/ 0° 3R 180° & ofg

4. None of these/s 78 T &5 gl

Correct Answer :-

. Between 0° and 1809/ 0° 3fR 1800 & &9

22) Which one of the following gates can be served as a building block for any digital circuit?/

frafafad & & s e, fadt fefrea afbe & fon fif @ <fe & S d orf R awar g2
1. NOT

2. NAND

3.0R

4. AND

Correct Answer :-

« NAND

23) Eddy currents are produced in: / Wav YRT 34— gl &:
1. Electromagnetic brakes/ﬁﬂ@ﬁﬁ%ﬁﬁ@f

2. All of these/d g+t

3. Induction furnace/3SaRM B9 4

4. Speedometers/TsHex

Correct Answer :-

« All of these/d a4t

24) Doppler effect in sound is due to-/ @ # “BTwR ghae” BT RO 8-
1. Motion observer/U&® &1 TTfd

2. Motion of source/@ﬁﬁﬁﬁ

3. Relative motion of source and observer/3dId 3R Yeids & A0 Tfa

4. None of these/3TH I ®1s g1



Correct Answer :-
. Relative motion of source and observer/IdId 3R U& P Jrug Tl

25) Bernoulli’s equation is a consequence of conservation of -/gTell BT FHHr & H&UT
BT TP U g1

1. Energy/3ull

2. Mass/&cqH

3. Linear momentum/ & Ja

4. Angular momentum/®Iuia JaT

Correct Answer :-

« Energy/3v

Topic:- Chemistry

1) How many protons are there in deuterium? / Si@ﬁﬂqﬁmﬁtﬁ?ﬁ@%%?
1.1
2.0
3.3

4.2

Correct Answer :-

2) How many bonds are associated with carbon in ethylene? / S ¥ &6 & A1y fhraa dUA 98
§UR?

1.5

2.4

3.3

4.2

Correct Answer :-
e 4

3) Eye disease is caused by the deficiency of vitamin-/ 3@\ &I A f$7 faerq & i & FrRor
gl 2

1.C
2.D
3.B

4. A

Correct Answer :-



4) Milk of lime is chemically:/ A & UT-I &7 IHAS AT 3:
1. CaHCO;

2. Ca(OH),

3.CaS0,4.2 H,0

4.CaCO5

Correct Answer :-

5) Penicillinis a/an / ﬂﬁlﬁlﬁl‘—l@%—
1. Hormone / g

2. Vitamin / faerfi=

3. Antibiotic / TélsTaifce

4. Antipyretic / SaRARIN

Correct Answer :-

- Antibiotic / Glemafes®

6) Which is primary alcohol? / UTdfi® TePpigd S 182
1. Propane-2-ol / A0 -2- 3T

2. Isopropyl alcohol / AR Tedh g

3. Butane-2- ol / 35@?—2- ST

4. Butane-1- ol / 31%7-[-1- 3T

Correct Answer :-

. Butane-1- ol / §¢H-1- 3Tl

7) The inert gas abundantly found in atmosphere is:/ Wﬁﬂﬂ?ﬂmﬁmﬁﬁwmﬁﬂ%:
1. Kr

2. He

3. Xe

4. Ar

Correct Answer :-

8) The gas constant R, is a constant:/ 39 fRRi® R fRR gAT8:
1. Only for real gas / WWW%W



2. Only for ideal gas / %ad e 7Y & forg
3. For both ideal and real gas / 3(T&¥f 3R aRdfd® 79 ! & fag
4. Neither for ideal gas nor for real gas / 9 d 3Te=f 19 & e 3R 7 € arafd® g & forg

Correct Answer :-

e Only for ideal gas / Fad e 9 & fog

9) The oxidation number of carbon in CH,0 is: / CH,0 ¥ ®Td Ft JTRitH 0T I= &:
1. +2

2.0

3.-2

4. +4

Correct Answer :-

« 0

10) Wholer synthesized urea by heating :/ WﬁmwwmmW?
1. Ammonium cyanate / 3 IfATH T3e

2. Ammonium urate / Gi'liﬁﬁﬂﬁ?@_c’

3. Ammonium oxalate / SMIIH 3Maeide

4. Ferric cyanate / BRe Age

Correct Answer :-

« Ammonium cyanate / 3HITH W

11) Which of the following has the highest calorific value? / oA 4 fPaeraed maﬁﬁﬁﬂﬁ%?
1. Fat / 941

2. Vitamins / fdei®=

3. Protein / SIG!

4, Carbohydrate / Tﬁlﬁ%ﬁ%‘t’

Correct Answer :-

o Fat/aqdr

12) Which of the following is a colligative property? / ﬁ?ﬁ@ﬁﬁﬁﬁﬂm@ﬂqm”@m e g2
1. Boiling point / Y%

2. Freezing point / fgdi®

3. Melting point / TTdHI®

4. Depression in freezing point / fg@i® & /aqa=

Correct Answer :-



« Depression in freezing point / %ﬂﬁﬁ&aﬂﬂ:{

13) Which of the following elements is present in Teflon? / 3w § 0 ¥ ¥ &1 A1 9 Hiv[g ga18?

1. Fy
2.1,
3. Brz

4.Cly

Correct Answer :-

14) Which of the following metals will displace copper from copper sulphate solution? /

Frafafed # @ o= ug FTR Febe fames 3 1R 9 fawnfia stz
1. Fe
2. Ag
3. Hg

4. Au

Correct Answer :-

15) Which of the following cannot exist on the basis of MO theory?/ TH3fl fRIgid & MYR W
FrafafEa % & frae sifvra 78 st awar 32

1. He,*
2. HeZ
3. Hy

4.C,

Correct Answer :-

16) Which of the following solutions (1M) will have the highest pH? / fFafaf@ad A $19 9 faaaa
(1 M) &T3=ad pH ghm?

1. AI(OH)5
2. K2C03
3. NaOH

4. NH4OH

Correct Answer :-



17) In a reaction: X + 2Y — products, the molecularity of the reaction is given by:/ T& 3ifufsrar
H: X + 2 Y — Sarel, fuforar &t snfogewar g:

1.1
2.0
3.3
4.2

Correct Answer :-

« 3

18) Baking soda is:/ sfFTAETE:
1. NaHCO3

2. NaC03.10H,0

3. NayS0y4

4. Na»,S0,.10H,0

Correct Answer :-

. NaHCO3

19) A raw material used in making nylon is:/mﬁﬁﬁﬁﬁmﬁﬁﬁmﬁaﬁﬂwﬁ%
1. Ethylene / 3UZaH
2. Methyl methacrylate / AfYd AuhRde

3. Butadiene / &cISIS
4. Adipic acid / Tfsfus TRe

Correct Answer :-

« Adipic acid / WR@I@

20) Graphite is a: / ABISC &:

1. Good insulator / gdTd®

2. Bad conductor of heat / &I &I D

3. Bad conductor of electricity / ﬁgaww

4. Good conductor of heat / &I &I JdTAD

Correct Answer :-

« Good conductor of heat / &HTHI &1 Tl

21) The sweetest sugar is:/ Jaif® A AHT 8-
1. Lactose / gl
2. Fructose / Thaerdl

3. Glucose / 7@l



4. Sucrose / gghIol
Correct Answer :-

e Fructose / THacol

22) Oleam is chemically: / 3ifera® &1 IS U &:
1. H25207

2. stzog

3. H2505

4. H2503

Correct Answer :-

+ H3S,0,

23) The reaction of acetamide with bromine and KOH gives :/ S 3R KOH %mu@ﬂ?mmsaﬁ
AP A BT 8:

1. Methylamine / Afd@ THiH

2. Ethyl alcohol / TR 3fedigd
3. Ethylamine / Q’fﬂﬁmﬂ:{

4. Ethane / ﬁa:[

Correct Answer :-

« Methylamine / ﬁﬁﬁ@fﬁ:{

24) Which element has the lowest ionization enthalpy?/ maﬁm&mﬁﬁwm?ﬂrm%?
1.Cl

2. Fr

3.H

4.F

Correct Answer :-

25) The preference of three unpaired electrons in a nitrogen atom can be explained by:/

ATgere W] § Fi ergfRra saae -l 3t adigan RT U ST AHaTl gl
1. Uncertainty principle / SffAf¥aar Rigia

2. Hund’s rule / gvgﬁﬁm:

3. Pauli’s exclusion principle / I3l T 3fuasi- Rigid

4. Aufbau principle / 3THaTS, RIGid

Correct Answer :-

« Hund’s rule / §Us &1 f4a9



Topic:- Botany

) CANCELLED

According to cell theory-/®IRI®T RIgid & IAR-

1. All cells are living/3+ HIR1HE Shfad gt 8

2. All cells have nuclei /3 fRre1af § YfFurg uran ST g

3. Cells arise from pre-existing cells/®IRABT Ugd F AT HIRABTA T I Belt &

4. Cells, are fundamental units of all the living organisms/@®1ReT G} SHifd Sal T Teryd 3oTs 3

Correct Answer :-
« Cells, are fundamental units of all the living organisms/®ITRaT Tt Sifad sial & gayd 3&Ts §

2) Precgrsor of Indole acetic acid (natural auxin) is:/3Usia TRIfe® 3 (WTpfae siifeaT) fraeT
SAATH B

1. Isopentnyl pyrophosphate/ SMEHU I UTRIBIEhe
2. Methionine / ffysAfA=

3. Glycine VESIESIE]

4. Tryptophan/<iaeith-1

Correct Answer :-

. Tryptophan/;prqaﬂFf

3) The final acceptor of electron in the ETC is-/ ETC ¥ 3@ & 3ifaw urdl 8-
1. Cytochrome YSIPEEILE]]

2. Water/sld

3. Oxygen /3o

4. Hydrogen /BTE;@GF[

Correct Answer :-

« Oxygen /3flatoH

4) Structure of 'prokaryotic DNA' is called-/-TN&RAe® ). 09.T ) T B BT SIraT 8-

1. Nucleoid/Jfaargs
2. Ribosome/IZarEH
3. Cytoplasm/®ITRIeT &

4. Plasma membrane/®IRIeT f2rea

Correct Answer :-

« Nucleoid/fFmags



5) The distinguishing feature of mycoplasma ? /HdTS®! wWTeHT &1 fafkre faivar 8-
1. Cell wall less/ITRemT ffi IMed

2. Marine/ 9gg!

3. Saprophyte /HFlTrﬂT:ﬁ

4. Ozone layer habitat/3NSlH URd gafary

Correct Answer :-

. Cell wall less/®IRreT fifxy Ifgd

6) In which types of cell Meiotic division occurs in/f%T TSR &1 HIRIHT A g At e urar s 8-
1. Conductive cells/JaTg® g HIRGTSH o

2. Vegetative cells /g 4fd BT o

3. Reproductive cells/US HIRTHT37 &

4. Meristematic cells /AREHCH HIRGTS T

Correct Answer :-

« Reproductive cells/FH IR H

7) Among the following which compound can induce seed dormancy?/sﬂﬁﬁﬁﬁmaﬁ'ﬁm%\ﬁ
fiw FAfSraar #t I & JHar g2

1. Ethylene/qﬂ'l'ar'f%{:l

2. Gibberelllins /fTeRferd

3. Potassium nitrate/TicRIAH A8ce
4. Abscisic Acid/Ufee 3

Correct Answer :-

« Abscisic Acid/Tfefi® s

8) In bryophytic plant male gamates are called-/SRfibfe® el & 7R S F HgT oa1 81
1. Spermatophyte/?lil"a.T:;TEb"IB'cr

2. Spermatogonia/ THERTIAT

3. Antherozoids /@ﬁﬁﬁ@ﬂ

4. Archegonia/ s

Correct Answer :-

« Antherozoids /T®R SIEEE

9) Which hormone signals the closure of stomata in plants?/ﬁsﬁﬁﬂwﬁﬁﬁ%ﬁﬁiﬁaﬁdﬁ
P BT Hbd a1 82

1. Auxin /Gﬁ@FT
2. Gibberellin/fRaRfer



3. Cytokinin/ STgeIGr™IMNT
4. Abscisic acid/TsHRI® 3

Correct Answer :-

« Abscisic acid/TsHI® 3/

10) During lightning and thunderstorms Atmospheric gaseous nitrogen is converted into/

TR fyerelt ud 3neht QT & SR aRpiseg Argere i uikafdd gt 8-
1. Oxides of nitrogen/ TSgIoH & eI gd |

2. Oxides of carbon/H’ﬂﬂ‘l% &IVW'I%SHﬁ

3. Oxides of oxygen/ G & SRR |

4. Nitric acid/=T=f¢® 3w

Correct Answer :-

- Oxides of nitrogen/ATScIoH & HleTsed A

11) During respiration yeast converts glucose to:/w%aﬁmﬁwwaﬁmél
1. Lactic acid and CO,/dfaed 3 T CO, &

2. Ethanol and oxygen /331 T4 SHiqdteH o

3. Ethanol and water /334(d Td 5 |

4. Ethanol and CO,/3%Hid Td CO, |

Correct Answer :-

« Ethanol and CO,/3341d T4 CO, &

12) Which of the following bacterium brings about denitrification? /378 9 ®I9 a1 aa g

SHIEAfb S a1 8|

1. Rhizobium/?'lg\_:ﬁﬁm:[

2. Nitrobacter/:rr's'@é’aa

3. Azotobacter /TSICISgeR
4. Pseudomonas /@@W

Correct Answer :-

« Pseudomonas /F}E’ﬂﬁﬂm

13) Which of the following plant cell will show totipotency? / Eﬁﬁﬁqﬁﬁmﬂﬁm?\?ﬁ
quireraar ar erdiue =t guifdt 82

1. Xylem vessels/ST3@H dlfgeTd
2. Sieve tube/ﬂa:ﬁqﬁ)[

3. Cork cell/@idh BHIfIepT

4. Meristem/ﬁﬂ-lﬁiﬁ'cm



Correct Answer :-

. Meristem/fa‘l-rﬁiﬁﬂav"

14) Which of the following is necessary for biological N, fixation?/37¥ & ®I9 WT 9@ HI® TS o+
R & i smawae 872

1. Zinc/SRdl

2. Manganese/ﬁ‘l‘FﬂTﬂ

3. Molybdenum/Hifcresd
4. Copper/didl

Correct Answer :-

- Molybdenum/#ifcissH

15) Red data book contains data of-/ﬁéﬂgﬁﬁaﬁﬁﬁﬁ?
1. All animal species /g4t S Uil &

2. Threatened species/®dR ® T faqwd &1 SR TR Uit S Feiifadi &
3. Economically important species /3@ %0 & Ag@yuf yefadl &

4. All plant species/3+t il &t yemfaal &

Correct Answer :-

« Threatened species/TR H T faq &1 SR UR URA S YSiTierdl &

16) The observed rise in the average temperature of the Earth's climate system, and its related

effects-/Ug Q1 T & & Yt Pt STerarg &1 3d dT9H 961 38T € 3id: Rye1 yHE 8-
1. Geoengineering/Y 3fYiADHT

2. Thermoengineering /d4 SRS

3. Global warming/a'f\%m'qq

4. Climate proxies/muﬁlﬁﬁ[

Correct Answer :-

« Global warming/a'f\%?ﬂtﬁ

17) In a cell the site of glycolysis is-/ @& # TS IASRIT HEl aidl -
1. Cytoplasm /PIRIGEH |
2. Chloroplast /gRdaad o

3. Mitochondria/ATgcib vgal o
4. Nucleus/d<® o

Correct Answer :-

« Cytoplasm /®IRIGGH |



18) The tailed bacteriophages are/i@'gﬂﬁﬁﬁﬂﬂl Wi g1 81
1. Motile on surface of bacteria/ SaCIRaT #} g W Mfazha

2. Motile on surface of plant leaves / Uit &1 UfRidl &1 Tag W Tfarfia
3. Actively motile in water/fhd 9 ¥ U H faRita

4. Non-motile/3dd

Correct Answer :-

. Motile on surface of bacteria/ ST B Tdg W AN

19) The idea of breeding crops to increase their nutritional value. /98 fauR a1 Iurg forad viyor &1
U1 9 & R Wl $1 SifiSII=T R STl -

1. Biodiversity/ Siq fafaear
2. Biodegradation/ Sd 3AHHIT

3. Bioremediation /@W SUAR
4. Biofortification/STTGIC (b

Correct Answer :-

« Biofortification/SAIGI b2

20) Plasmolysis occurs due to-/TTSHIRIRT a1 Sagaaga &1 R &:
1. Osmosis/ ORI

2. Endosmosis/3id: TRTERO

3. Absorption/3/a=NYUl & HRUT

4. Exosmosis /dTgl URTIRUT

Correct Answer :-

» Exosmosis /d&Tel URTERTI

21) Kreb’s cycle takes place in which organelleslmwmaﬁmﬁm%-
1. Vesicle of ER /$3R & dugeHd d

2. Ribosome/?'l'{@ﬁ@ﬁﬁ

3. Mitochondrial matrix /qﬁﬁﬁ@ﬂﬁﬁﬁwﬁ

4. Lysosome/ AT H

Correct Answer :-

« Mitochondrial matrix /ATScI®Iead Afca o

22) Which enzyme helps in converting pyruvic acid into ethyl alcohol? /98 ®9 91 Y& ivg (T~iTg)
2 o URfA® 3 Y URIT-Uehied | URafdd w33 o TeTa® giar 82

1. Phosphatase /®Bihes
2. Carboxylase and dehydrogenase /Gﬂﬁ%ﬂ@ﬁ@" S8 3';5 GE



3. Carboxylase and hydrogenase/®TaiTRIcS Td BTEG oISl
4. Dehydrogenase/ Eslsé GE

Correct Answer :-

« Carboxylase and dehydrogenase /aﬂmﬁr@%ﬁm@ﬁﬁﬁ

23) Plant absorb the element nitrogen in the form of-/M% TSN d@ &I {5y vU H TG Hd 2-
1. Nitrogen gas Fﬂ%‘@ﬁ‘fﬁﬂ

2. Nitrites/IggIgcd

3. Nitric Acid/T8fRed ot

4. Nitrates/-T¢cy

Correct Answer :-

» Nitrates/ saaﬁ

24) The process in which natural or artificially induced production of fruit without fertilization

of ovules, which makes the fruit seedless is-/dg Uf$a1 forgH, wal &1 9ie - IRd 1 & ford wal &1
pfas a1 T v A dervei & e & famr I fear sran @:

1. Parthenocarpy/ ATfiAadf

2. Stimulative stenospermocarpy/@ﬂﬁﬁﬁ@?ﬁw
3. Stenospermocarpy/@:ﬂw

4. None of these/ T8 ¥ ®Is -Ta!

Correct Answer :-

« Parthenocarpy/ UTiHieIdf

25) Meristematic tissues and permanent tissues are types of /AR¥eAfe® (Rusuifafe 3aw) Ha@ v
TR HaP TFR &-

1. Phloem tissues/q?ﬁm:r Fdd b
2. Endoplasmic tissues/ TSITTH® SHddb &
3. Xylem tissues/STIaH IdH &

4. Simple tissues/I%d IdH &

Correct Answer :-

« Simple tissues/Id IdP &

Topic:- Zoology

1) Sequential transfer of genetic information from DNA to protein via RNA is caIIed-/@TET-I'Qﬁ

RNA & §RT WA T TIIIRIG AFBRI & SHHS gediarol H Had 8-
1. Translation /giE=M

2. Translocation/3fqdla



3. Tra nscription/ﬂfaf?ltﬁ
4. Central dogma/<g geTiHar

Correct Answer :-

« Central dogma/&=<1g geefifdr

%) Which is the vomiting centre in the brain? / H‘%‘Wﬁﬁwiﬁﬁw YT & & Sl & ford o AeR giar

1. Medulla oblongata / H&JdT ffedrieT
2. Occipital lob / 3{Rufed Ad
3. Hippocampus/ @@y

4. Pons / =g

Correct Answer :-

« Medulla oblongata / H&JaT 3fisarieT

3) Which cell was used to produce Human Vaccine by the help of recombinant DNA

Technology /T &9 W ST 8, o1 STaRT §=: JUeie SIeT Muife @1 7ee @ AFa A1 (A=) &)
T | fPar Smar 8-

1. E. Coli / S ®alTs

2. Bacillus/aﬁl?m

3. Streptococcus/ CEIHIHY

4. Aspergillus niger/TquRISaY TR

Correct Answer :-

« E. Coli /S ®IdE

4) Filtrated blood is carried away from the kidney by- /5T g3l Y& &b /{ﬁﬁmmﬁﬁﬂn
EIGIE

1. Renal vein/ ¢ &1 99

2. Urethra/&?ﬁlﬁ

3. Renal artery/’ﬁﬁﬂﬂ‘ﬁ
4. Nephrons/ﬁ'?b"\l%-r

Correct Answer :-

» Renal vein/ ﬁaﬁw

5) Fetus receives nutrition and oxygenated blood from mother by-/ YUl &I AT & TyU T4 SifeRfte
Yo T U BT 3-

1. Uterus/ THIR

2. Placenta /ATd

3. Fallopian tube/f&taareit el
4. Umbilical chord/‘T'l-ﬁ'IFr



Correct Answer :-

« Placenta /ATd

6) Bt genes encodes which type of Toxin which pose cidal effect on insect pest/@é’fﬁﬂi‘lm
WE F IR & IS TATAT 3|

1. Endotoxin/‘I-‘-@'?fEﬁaH:[
2. Neurotoxin / =RIciaa
3. Enterotoxin/TeRIei
4. Exotoxin/QaGhET%‘él'—r

Correct Answer :-

. Endotoxin/@?ﬁ?

7) Sequence of embryo development-/YUl & fa&T &1 Glﬂib‘q%-

1. Gamete zygote- Blastula- Morula - Gastrula/g™H® JHAS — SRSl -

2. Gamete zygote - Morula - Blastula- Gastrula/g® el — HIwell - ARGl — TRl
3. Gamete zygote- Morula - Gastrula- Blastula/ e ol - HI%ell - TSl - ARGl

4. Gamete zygote- Gastrula- Morula - Blastula/g™H® gTHAS — TREAT - HRAT - ARGl

Correct Answer :-
. Gamete zygote - Morula - Blastula- Gastrula/g™d® gTHsl - Hel - SR Al - 1 &

8) Which one of them is Complete digestive juice containing amylolytic, lipolytic and proteolytic

enzymes? /38 I HI T 31 Th JHUf U god THT dlarafes, arguiarnifes ud nfedianfes u=mgH 82
1. Intestinal juice/3{ = ¥

2. Pancreatic juice/ 3R

3. Saliva /@R

4. Gastric juice/3HRIIH

Correct Answer :-

« Pancreatic juice/3 R I{

9) Based on yolk human eggs are-/ P TR MY AT 3(US 8-
1. Mesolecithal /ﬁl@ﬁ?ﬂ?ﬁf

2. Microlecithal / Wﬁ?ﬁ?—lﬁ

3. Alecithal /TertYe

4. Macrolecithal / Asiaiya

Correct Answer :-

« Alecithal /Qaﬁ U



10) The middle piece of the sperm contains-/ [TU] & AT YT & URIT STl 8-
1. Centriole/@'fr:gf@:ﬁﬁ

2. Mitochondria / ATSCIbIUSAT

3. Proteins /HICI

4. Nucleus/d s

Correct Answer :-

« Mitochondria / ATIgcI@®IvSal

11) Chemical messenger send information between neurons by crossing a synapse is called-/

IS YMATED Sit 5 AT & gRIT &l TR & §14 T2 1 Ugard &, ) Her o -
1. Dendrites / @@3‘6

2. Neurotransmitter/ TRICRIHCI
3. Foramen magnum/BRTA H3H

4. Cranium / &Uld

Correct Answer :-

« Neurotransmitter/ =RICRHCR

12) The number of new individual produced by a population in unit time is:/ Wﬁwﬁw
RIS gRT I~ ¢ Hafd 8-

1. Mortality/g &®
2. Natality/ SIFH X
3. Actual Mortality/dRdfd® g

4. Reproductive potential/UsIH- &HdI

Correct Answer :-
« Natality/ S X

13) Exchange of segment between non-homologous chromosome is which kind of structural

changg;; in chromosome-/WW%WQﬁaﬁ?ﬁﬁﬁGﬁ?Gﬂﬂﬁ?wﬁﬁuﬂﬁﬁ%@s’fﬁaﬂ?ﬁ
Hard -

1. Duplication/ yfafaa
2. Translocation/3fqdla
3. Deficiency/&H

4. Inversion/cgch HUT
Correct Answer :-

« Translocation/3{Jdic

14) Cry genes found in /T8 SiI=d U1 ST &-



1. Bacillus subtilis/ STe qefcery

2. Bacillus thuringinesis/Sfes YRR

3. Clostridium botulinum/FARITSaH aIgfaH
4. Staphylococcus aureus/@ﬁﬁﬁm STy

Correct Answer :-

« Bacillus thuringinesis/dTRied ﬁﬁ%ﬂﬁm

15) The goal of Gene Therapy/\'rﬁﬂmﬂiﬁﬁ&ﬂ%
1. Chemotherapy/Jd™A9 3UAR

2. Integrative Therapy/Ubidd fafdbdr

3. Psychoanalytic therapy/a1 fafare

4. Gene replacement therapy/Si= WaTg ARG}

Correct Answer :-

» Gene replacement therapy/@?mﬂﬂqw

16) Period in which heart muscles relaxes and refills with blood-/dg ®9 ! 3@y 2, 54 g¢d P
AiaafRmat v & w1y Riged vd St @i 2-

1. Cardiac reflux/®1ead Rbaeq
2. Cardiac arrest/®Iedd W

3. Diastole/ STBUEA

4. Systole/ﬁl@ﬁ

Correct Answer :-

. Diastole/ S3U%IA

17) After menopause bone loss increases due to lower level of-/ISI-gRI & a1¢ frad T wR &
PRI gfEal &1 g1 Fedl 31

1. Adrenaline/@elﬁrrr

2. Serotonin/@aﬁ:{

3. Progesterone/mﬁg‘lﬁ
4. Oestrogen/TXC o

Correct Answer :-

« Oestrogen/T¥IoH

18) An operon responsible for utilization of lactose as a carbon source/mﬁﬁmﬂww
I & U H HIA & o HF 1 SRTA RrfeR gar @l

1. Ori/37 3R 3MS
2. Trp/ R
3. Lac/ﬁE



4. None of these/ aﬁ@raﬁé:@

Correct Answer :-

. Trp/'c')IG{Rtﬂ

19) Which filter is used in removing waste and excess water from blood in Dialysis-/a%'ﬁq'\‘ﬁ

Bt § e ST Sruie & Y& & Jufire wd srfafvad Uit ®Y gr ¥ & v faan oiran -
1. Particulate filter /&0l flheex

2. Dialysate/3Ufgd /SZade

3. Dialyzer/3MUIdd /SBASR

4. None of these/3TH Y P13 g!

Correct Answer :-

. Dialysate/3ufgd /S8ade

20) Which enzyme is responsible for unwinding of double helix of DNA/ ST & sad gferaT &1
WA & R B9 1 g H (UPiva) YT Furar 2

1. Helicase/gferdrst

2. Ligase /TS

3. DNA polymerase/ST-t GreiaRst
4, Primase/UgHs

Correct Answer :-

« Helicase/gfddst

21) Amniocentesis is a procedure used in - /Ieaa Y= UfshaT UURT 91 Sirel 8-
1. Prenatal diagnosis/ﬂﬂaqacﬁ?ﬁ

2. Rett Syndrome/i‘c'ﬁi@'q

3. Differential diagnosis/ﬁmﬁﬂﬁ

4. DNA fingerprinting/Sie-d iR fiife

Correct Answer :-

« Prenatal diagnosis/WT{q;ﬁm

22) The two membrane which make up the amniotic sac to protect the fetus? /3 f2reeft st wef Seit
F SR TEDHT YOI B Y& Bl 82

1. Serous and cutaneous membrane/dRd 3R T Taeft freedt
2. Serous and lamina propria/ﬂWGﬁ??lelﬂﬁﬂT

3. Synovial umbilical membrane /@NWW

4. Amnion and chorion /W@TW

Correct Answer :-

« Amnion and chorion /Wﬁm



23) Which plasmid in Recombinant DNA Technology was used for producing Human Insulin?/

T B 1 WIS & Rt STahT : Taiie e wrafiet § ara sgfem & famfor & faar simar g2
1. Ri plasmid /3/R3(T8 @WIfSHS

2. pUN 121/91EaH gt a- wiifors

3. Ti plasmid /S13MS @foHS

4. pBR322/Md13(R322

Correct Answer :-

« pBR322/Uldl3MR322

24) Which protein regulate the colloidal osmotic pressure in blood/ﬁqwﬁ'ﬁﬂ%ﬁﬁmﬁ
FraNSTd WGV 19 &1 fafafia sar gl

1. Myoglobin/ﬁ@@ﬁ?
2. Albumin/Tesgfi=

3. Arginin/3MSiAA

4. Fibrin / WISl

Correct Answer :-

« Albumin/Tesgfi

25) In lungs gas exchange occurs in millions of small air sac called/mﬁﬁv%mmﬁ
A BY ga1 3t Acht B HEd 3-

1. Bronchioles / sifp3fied
2. Pleural sac/BwpY Aait

3. Alveoli/Tide1/Tfeaare
4. Trachea/ E’%Gﬂ

Correct Answer :-

« Alveoli/TfdpT/Tfeaaredt



